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 AEC-01  

BACHELOR’S DEGREE PROGRAMME 

(BDP) 

Term-End Examination 

June, 2021 

 

(APPLICATION ORIENTED COURSE) 

AEC-01 : ENVIRONMENTAL CHEMISTRY 

Time : 3 hours Maximum Marks : 100 

Note :  Attempt all questions. The marks for each  question 

are indicated against it. 

 

1. (a) Fill in the blanks in any five of the 

following : 51=5 

(i) The most abundant soil organisms 

are __________ .  

(ii) Colic problem in animals is due to 

____________ pollutants.  

(iii) BOD stands for ___________ .  
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(iv) Full form of RSPM ___________ .  

(v) A substance which destroys and 

inhibits rodents is called _________ .    

(vi) __________ virus causes diarrhoea.    

(vii) CFC stands for _________ .     

(b) Define the  following (any five) : 51=5 

(i) Aquifers 

(ii) Eutrophication   

(iii) Coliforms   

(iv) MPN  

(v) Acid Rain  

(vi) Global Warming  

(c) Answer any five of the following : 52=10 

(i) Explain why earthworms are said to 

be important soil animals.  

(ii) In what way is crop rotation good for 

soil management ?   
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(iii) State the difference between Reverse 

Osmosis and Electrodialysis.    

(iv) What is the main cause of 

deterioration of Taj Mahal in Agra ? 

(v) What is the effect of ozone layer 

depletion on water animals and 

plants ?  

(vi) Why are coliforms selected as 

indicator micro-organisms ?    

2. Answer any four of the following : 45=20 

(a) What is Greenhouse effect ? What is its 

effect on environment ?  

(b) What are the important parameters for the 

characterization of sewage ?   

(c) Name any five types of pollutants which can 

affect humans and animals.   

(d) Explain the treatment process of dairy 

wastes.    
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(e) Describe in brief the chemical methods of 

ambient air analysis. 

(f) What are fertilizers ? Why should chemical 

fertilizers be supplemented with organic 

manures ?  

3. Answer any four of the following : 45=20 

(a) What is a pesticide ? What are the 

characteristics of an ideal pesticide ?   

(b) Discuss the basic components of a flame 

photometer. Write the main application of 

flame photometry.  

(c) Describe the active factors affecting soil 

formation.  

(d) Differentiate between minerals and rocks. 

How are metamorphic rocks formed ?  

(e) Write the uses of water quality criteria.   

(f) What is the basis of classification of air 

pollutants ? Describe any one in brief.  
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4. Answer any four of the following : 45=20 

(a) Describe the spectrophotometric method for 

analysis of SO2.  

(b) Define Chromatography. Write the principle 

and procedure for thin layer 

chromatography.  

(c) List different types of reference electrodes 

used in potentiometric analysis. Discuss any 

one in brief.  

(d) Define Molar Conductivity. Calculate the 

molar conductivity of 0·20 M solution of KCl 

with conductance 2·5  10–1 S cm–1 at 25C.      

(e) Give (i) two examples of organic insecticides, 

(ii) two examples of fungicides and (iii) one 

example of a herbicide.   

(f) What is Beer-Lambert Law ? List the causes 

of deviation from this law.  
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5. Write short notes on any four of the  

following : 45=20 

(a) Mechanical and Thermal Turbulence  

(b) Integrated Pest Management  

(c) pH-metry   

(d) Titrimetric Analysis 

(e) Solvent Extraction     

(f) Hydrological Cycle    
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(ì`dhma_ybH$ nmR²>`H«$_) 

E.B©.gr.-01 : n`m©daU agm`Z 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  g^r àíZm| Ho$ CÎma Xr{OE & àË òH$ àíZ Ho$ A§H$ CgHo$ 
gm_Zo {XE JE h¢ & 

1. (H$) {ZåZ{b{IV _| go {H$Ýht nm±M  [aº$ ñWmZm| H$s ny{V© 

H$s{OE : 51=5 

(i) _________ g~go ~hþVm`V _| nmE OmZo dmbo 

_¥Xm Ord h¢ &   

(ii) _________ àXÿfH$m| Ho$ H$maU newAm| _| noQ> 

XX© (CXaeyb) H$s g_ñ`m hmoVr h¡ &  

(iii) BOD H$m nyU© ê$n _________ h¡ &  
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(iv) RSPM H$m nyU© ê$n _________ h¡ &  

(v) H¥$ÝVH$m| H$mo ZîQ> H$aZo VWm CZH$m g§X_Z 

H$aZo dmbo nXmW© _________ H$hbmVo h¢ & 

(vi) _________ {dfmUw Ho$ H$maU A{Vgma hmoVm 

h¡ &  

(vii) CFC H$m nyU© ê$n __________ h¡ &  

(I) {ZåZ{b{IV H$mo n[a^m{fV H$s{OE ({H$Ýht nm±M 

 H$mo) :   51=5 

(i) Ob^¥V²  

(ii) gwnmofU  

(iii) H$m°{b\$m°_©   

(iv) E_.nr.EZ. (MPN)  

(v) Aåb dfm©  

(vi) d¡pídH$ VmnZ 

(J) {ZåZ{b{IV _| go {H$Ýht nm±M  Ho$ CÎma Xr{OE : 52=10 

(i) ì`m»`m H$s{OE {H$ H|$MwE _hÎdnyU© _¥Xm 

OÝVw Š`m| H$ho OmVo h¢ &  

(ii) _¥Xm à~ÝYZ Ho$ {bE µ\$gb MH«$U {H$g 

àH$ma AÀN>m h¡ ?  



AEC-01 9   P.T.O. 

(iii) CËH«$_r namgaU VWm {dÚwV² AnmohZ Ho$ ~rM 

A§Va ~VmBE & 

(iv) AmJam _| pñWV VmO _hb H$s {dH¥${V H$m 

_w»` H$maU Š`m h¡ ?   

(v) Obr` O§VwAm| VWm nm¡Ym| na AmoµOmoZ naV 

õmg H$m Š`m à^md hmoVm h¡ ?   

(vi) gyMH$ gyú_Ordm| Ho$ ê$n _| H$m°{b\$m°_m] H$mo 

M`{ZV Š`m| {H$`m OmVm h¡ ? 

 

2. {ZåZ{b{IV _| go {H$Ýht Mma  Ho$ CÎma Xr{OE : 45=20 

(H$) h[aV J¥h à^md Š`m hmoVm h¡ ? n`m©daU na BgH$m Š`m 

à^md hmoVm h¡ ?   

(I) dm{hV _b Ho$ A{^bjUZ Ho$ _hÎdnyU© àmMb H$m¡Z-go 

h¢ ?   

(J) _mZdm| Ed§ newAm| H$mo à^m{dV H$a gH$Zo dmbo {H$Ýht 

nm±M àH$ma Ho$ àXÿfH$m| Ho$ Zm_ {b{IE &  

(K) S>oar An{eîQm| H$s CnMma à{H«$`m H$s ì`m»`m H$s{OE & 
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(L>) n[adoer dm ẁ {díbofU H$s amgm`{ZH$ {d{Y`m| H$m 

g§jon _| dU©Z H$s{OE & 

(M) Cd©aH$ Š`m hmoVo h¢ ? amgm`{ZH$ Cd©aH$m| _| H$m~©{ZH$ 

ImX H$mo Š`m| S>mbZm Mm{hE ?  

3. {ZåZ{b{IV _| go {H$Ýht Mma  Ho$ CÎma Xr{OE :  45=20 

(H$) nr‹S>H$Zmer Š`m hmoVm h¡ ? EH$ AmXe© nr‹S>H$Zmer H o$ 

Š`m A{^bjU hmoVo h¢ ?  

(I) Ádmbm àH$me_mnr Ho$ AmYma^yV KQ>H$m| H$s MMm© 

H$s{OE & Ádmbm àH$me{_{V Ho$ _w»` AZwà`moJ 

{b{IE & 

(J) _¥Xm Ho$ ~ZZo H$mo à^m{dV H$aZo dmbo g{H«$` H$maH$m| H$m 

dU©Z H$s{OE & 

(K) I{ZOm| Am¡a e¡bm| Ho$ ~rM A§Va ñnîQ> H$s{OE & 

H$m`m§V[aV e¡b {H$g àH$ma ~ZVo h¢ ? 

(L>) Ob JwUdÎmm _mnX§S> Ho$ Cn`moJ {b{IE &  

(M) dm`w àXÿfH$m| Ho$ dJuH$aU H$m Š`m AmYma h¡ ? {H$gr 

EH$ H$m g§jon _| dU©Z H$s{OE & 
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4. {ZåZ{b{IV _| go {H$Ýht Mma  Ho$ CÎma Xr{OE :  45=20 

(H$) SO2 Ho$ {díbofU Ho$ {bE ñnoŠQ>́_r àH$me_mnr {d{Y 

H$m dU©Z H$s{OE & 

(I) dU©bo{IH$s H$mo n[a^m{fV H$s{OE & nVbr naV 

dU©bo{IH$s H$m {Z`_ VWm H$m`©{d{Y {b{IE &  

(J) {d^d{_Vr` {díbofU _| à ẁº$ {d{^Þ àH$ma Ho$ g§X ©̂ 

BboŠQ>́moS>m| H$s gyMr ~ZmBE & {H$gr EH$ H$s g§jon _| 

MMm© H$s{OE & 

(K) _moba MmbH$Vm H$mo n[a^m{fV H$s{OE & 25C na  

2·5  10–1 S cm–1 H$s MmbH$Ëd dmbo KCl Ho$ 

0·20 M {db`Z H$s _moba MmbH$Vm H$m n[aH$bZ 

H$s{OE &  

(L>) (i) H$m~©{ZH$ H$sQ>Zmer Ho$ Xmo-Xmo CXmhaU  

(ii) H$dH$Zmer Ho$ Xmo-Xmo CXmhaU VWm (iii) emH$Zmer 

H$m EH$ CXmhaU Xr{OE &  

(M) ~r`a-b¡å~Q>© {Z`_ Š`m h¡ ? Bg {Z`_ go {dMbZ Ho$ 

H$maUm| H$s gyMr ~ZmBE & 
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5. {ZåZ{b{IV _| go {H$Ýht Mma  na g§{jßV {Q>ßn{U`m±  

{b{IE : 45=20 

(H$) `m§{ÌH$ VWm D$î_r` {djmo^ 

(I) EH$sH¥$V nr‹S>H$ à~§YZ 

(J) pH-{_{V 

(K) AZw_mnZr {díbofU  

(L>) {dbm`H$ {ZîH$f©U  

(M) Obr` MH«$  

 

  

      


